
BANK1
SLC39A8

NFKB1 SLC9B2
CENPE
MANBA
SLC9B1

CISD2
UBE2D3

CISD2
UBE2D3

CISD2
CISD2
CISD2

MANBA
CISD2
CISD2
CISD2
CISD2

MANBA
UBE2D3

CISD2
CISD2
CISD2
CISD2
CISD2
CISD2

UBE2D3
CISD2
CISD2
CISD2

UBE2D3
BDH2

UBE2D3
CISD2
CISD2
CISD2

MANBA
CISD2

RP11−10L12.4
CISD2
CISD2

UBE2D3
MANBA
MANBA

UBE2D3
CENPE
CISD2

RP11−10L12.4
MANBA

BDH2
MANBA
MANBA
CENPE
MANBA
MANBA

UBE2D3
CISD2

MANBA
CISD2

MANBA
NHEDC2
UBE2D3

CISD2
MANBA

TACR3

●●

●●
●

●

●●
●

●

●

●

●

●
●●●

●

●

●

●

●
●●●●

●
●
●

●
●

●

●
●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●●

●

●

●
●
●

●

●●
●

●

●
●●

●

●

●
●

●

●

●●

●

●

●

●
●

●
●
●●●●

●
●●
●

●●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●
●

●
●

●

●●●

●
●

●

●●
●
●
●● ●●

●
●●
●
●
●

●●

●

●●●

●

●

●●

●●

●

●

●●
●
●

●
●
●

●

●

●●

●●

●

●

●

●

●

●

●●
●

●

●●●

●

●●
●●●

●
●●●

●

●●●● ●●●●●●●●●●●●●●●●●●

●

●
●●

●●●●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●

●

●
●●

●
● ●●

●
●

●

●●

●

●

●●●
●

●

●
●

●

●

●

●

●

●

●
●

●

●●

●

●

●
●

●

●●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●●●

●

●

●●●●●●

●

●

●
●●

●

●

●

●

●●
●●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●
●

●

●
●●

●
●
●●

●●
●

●

●

●

●●

●●

●

●

●

●

●

●

●

●
●

●

●●●● ●
●

●●

●

●

●

●

●

●
●●

●
●
●

●

●

●

●
●

●

●

●

●

●
●

●
●

●●

●

●●

●

●

●●

●

●

●

●●

●

●

●

●
●●

●

●

●●●●
●

●

●●

●

●
●●

●●

●

●
●●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●
●●

●

●

●
●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●

●

●●●●●●●●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●●●●●●

●
●

●

●

●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●
●

●

●
●

●
●

●●

●●●

●

●●
●
●

●

●

●

●

●●●

●

●●
●
●

●

●

●
●●●

●

●●

●

●

●●●●

●

●●●●

●

●

●

●

●

●

●

●●●●●●●●

●

●●

●

●

●

●
●

●
●
●

●

●

● ●●●

●

●

●●●●

●

●●

●●

●

●
●
●

●

●

●

●●
●

●

●●●●

●

●
●●●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●
●

●
●

●

●

●

●●

●
●

●

●●●

●

●
●

●
●
●

●

●

●●
●

●

●
●

●

●●●

●

●

●
●
●●●●

●●

●

●

103.0 103.5 104.0 104.5

0

2

4

6

8

10

chr 4 physical position (MB)

−
lo

g1
0(

P
−

va
lu

e)

●●

●●
●

●

●●●

●

●

●

●

●
●●●

●

●

●

●

●

●●●
●

●●●
●

●

●●

●

●

●

●

●

●

●●
●

●

●

●

●

●

●

●

●●

●

●

●
●

●

●

●●
●

●

●●●

●

●

●● ●●

●●

●

●

●

●
●●

●●●●●
●
●

●
●●

●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●
●

●

●

●

●●●

●●

●

●●
●
●
●● ●●

●
●
●
●
●●●●

●

●●●

●

●

●

●

●●●
●

●●
●
●
●
●
●

●
●

●
●

●●●●

●
●●●

●●

●
●

●
●
●

●

●

●

●
●

●●

●

●

●

●

●●
●

● ●
●

●
●●

●●●

●

●●●●

●

●

●
●
●●

●●

●

●
●

●

●

●

●

●
●

●

●●

●

●

●

●

●

●

●
●

●

●

●

●

●● ●
●

●●
●

●●

●
●

●●●●

●

●●
●●

●

●

●

●

●
●

●

●●

●
●

●●●●●

●
●●

●
●

●
●●

●

●

●●

●

●
●

●●●

●

●●●

●●

●●●●●●

●

●

●

●●

●

●

●

●

●●●●
●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●
●●

●
●●●●●●●●●●

●
●

●
●●

●
●

●

●

●●

●
●

●

●●
●

●●●● ●●

●

● ●

●

●●
●
●●●
●●
●●●

●

●

●
●
●
●

●
●●
●●
●●
●

●●

●

●
●●

●
●
●

●●

●

●
●
●

●●

●●●●
●
●

●

●●●

●

●

●

●

●●
●

●

●●

●

●●●

●

●

●

●

●●

●

●

●

●

●

●
●●

●●●

●

●

●

●

●

●

●

●
●●

●●

●
●

●

●

●●

●
●

●

●●●●●●●
●

●

●

●

●

●

●

●

●
●●
●
●
●

●

●
●

●

●

●

●
●

●●●●●●

●
●●

●

●

●
●

●

●

●

●

●
●

●●●
●

●

●

●
●

●
●

●

●●
●●●●●

●

●●●●
●

●

●

●

●●●

●

●
●
●●

●

●

●

●●●

●

●●

●

●

●●●●

●

●●●●

●
●

●

●

●

●

●

●●●
●●●●●

●

●●

●

●

●

●
●

●

●

●

●

●

● ●●●

●

●

●
●●
●

●

●●

●
●
●

●
●
●

●

●

●

●●
●

●

●●●●

●

●●●●●●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●●

●●●

●

●

●

●

●

●

●●

●

●●●

●

●
●

●
●
●

●

●

●●
●

●

●●

●
●●●

●

●●
●●
●●●

●●

●

●


